Othello

Two More Directions: Up and UpRight



Down

public void swapDown (int %, int vy)

{ // This swaps the pleces on the left side
int me = turn;
int them = 1;
if (turn == 1)

x+1, them = 2;
y .
int xcopy = x + 1;
X+2 while (xcopy < row && b [xcopyl [y] == them)
' {
Y

b [xcopy]l [y] = me;
HCoOpy++;



X+1,

X+2,

public boolean canGoDown (int x, int y)
{ // Checks 1f a player can go 1in (X,y) based on it's
int me = turn;
int them = 1;
if (turn == 1)
them = 2;

//at edge, can't go
if (x + 1 >= row)
return false:;
//nothing to left, can't go
else if (x + 1 < row && b [x + 1] [y] == 0)
return false;
//my plece to left, can't go
else if (x + 1 < row && b [x + 1] [y] == me)
return false;
//them to left, need to check further left
else
{
int xcopy = 2 - 1;
while (xcopy >= 0 && b [Zcopy] [y] == them)
{
xCopy——;
}
//them all the way to the edge
if (xcopy < 0)
return false;
//them all the way to a blank
else if (xcopy >= 0 && b [xcopy] [y] == 0)
return false;
//them all the way to me
else if (xcopy >= 0 && b [xcopy]l [y] == me)
return true:;

}

return false;



Down

public void move (int x, int vy)
{ //Place the plece, swap the middle ones.
b [x] [y] = turn;

if (canGoLeft (x, v))
swapLeft (X, vy);
if (canGoRight (=, vy))

swapRight (%, v);
if (canGoDown (%, V¥))
swapbown (%, Vv):

if (canGoUp (%, ¥))
swapUp (x, v):

if (canGoUpRight (%, v))
swapUpRight (%, v);



Down public boolean canGo (int x, int y)

[ //This checks 1f a turn 1s wvalid

if (b [x] [y] = 0)
return false;

else if (canGolLeft (%, y) == true)
return true;

else if (canGoRight (%, y) == true)
return true;

else if (canGoUp (%, y) == true)
return true;

else if (canGoDown (%, y) == true)
return true;

else if (canGoUpRight (%, y) == true)
return true;

//TO DO: other directions here

else
return false;



public boolean canGoUpRight (int x, int y)
{ // Checks if a player can go in (¥,y) based on it's right side
int me = turn;
int them = 1;
if (turn == 1)
them = 2;

X-2,
y+2

//at edge, can't go X'1;

if (y+ 1 >=col || = - 1 < 0)
return false;

//nothing to up-right, can't go

else if (v + 1 < col && x - 1 >= 0 && b [x - 1] [y + 1] == 0)
return false;

//my piece to up-right, can't go

else if (v + 1 < col && x - 1 >= 0 && b [x - 1] [y + 1] == me)
return false;

//them to left, need to check further left
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if (ycopy >= col || =zcopy < 0)

return false; . . . . . .
//them all the way to a blank X X X Y X XO)
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else if (ycopy < col && xcopy >= 0 && b [xcopy] [ycopy] == 0)

return false;
//them all the way to me Again H Instructions H Settings | ‘ Again H Instructions H Settings
else if (ycopy < col && xcopy >= 0 && b [xcopy] [ycopy]l == me)

return true;

}
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public boolean canGoUpRight

[ // Checks if a player can

(int %, 4int y)

go 1in (X,y) based on it's right side

int me = turn;
int them = 1;
if (turn == 1)
them = 2;
//at edge, can't go
if vy + 1 >= col|ll]lx - 1 <
return false;
//nothing to up-right, can't go
else if qi_i 1 < col|sa|x - 1 >= 0lss bl[x - 1] [y + 11| == 0)
return false;
//my plece to up-right, can't go
else if (y + 1 < collaa|x - 1 >= 0|&& b |[x - 11||/ly + 1] == me)
return false;
J/them to left, need to check further left
else
{
xcopy >= 0|&& b |[xcopy]| |[[ycopy]l| == them)
//them all the way to the edge
if (ycopy >= col|l || xcopy < O}
return false;
J/them all the way to a blank
else if 1ycopy < col| &&|xcopy >= 0|&& b |[2copy]]||lycopy] == 0)
return false;
//them all the way to me
else if (ycopy < col| &&|xcopy >= 0|&& b |[zcopyl||/[ycopyl| == me)

return true;

}

return false;
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public void swapUpRight (int x, int y)

{ // This swaps the pieces on the left side
int me = turn;
int them = 1;

Swap Up Right

if (turn == 1)
them = 2;

Colour coded

in onvV_ = + 1:
int xcopy = % - 1:

while 1ycopy < CO |&& xcopy >= 0|&& b [Xcopy]”[ycopy]|== them)
{

b l[Zxcopy]l |[vcopy] | = me;
YCOpY++7
[xcopy——7]

4

public void swapUpRight (int x, int y)
{ // This swaps the pieces on the left side
int me = turn:;

Tt e T Swap Up Right

them = 2;
int ycopy = y + 1;
int xcopy = x - 1;
while (ycopy < col && Xcopy >= 0 && b [xcopy] [ycopy]l == them)

{
b [xcopy] I[ycopyl = me;
YCOpy++]
XCopy——i




public void move (int x, int vy)
{ //Place the piece, swap the middle ones.
b [x] [y] = turn;

if (canGoLeft (%, y))

{
swaplLeft (x, vy);

!
if (canGoRight (%, vy))

{
swapRight (x, y):
}
if (canGoUp (%, v))
{
swapUp (X, V)i
}

if (canGoUpRight (x, v))

{
swapUpRight (x, vy):

}



public boolean canGo (int x, int vy)
{ //Thlis checks 1f a turn 1s wvalid
if (b [x] [yl '=0)
return false;
else if (canGoleft (%, y) == true)
return true;
else if (canGoRight (x, y) == true)
return true;
else if (canGoUp (%, y) == true)
return true:
else if (canGoUpRight (%, y) == true)
return true:
//TO DO: other directions here

else
return false:;



public boolean canGoUpRight (int =, int vy)
{ // Checks if a player can go in (x,y) based on it's right side
int me = turn;
int them = 1;
if (turn == 1)
them = 2;

//at edge, can't go
if (y+ 1 »>=col || x -1 < 0)
{
System.out.println ("a");
return false;

Error Testing

}

//nothing to up-right, can't go

else if (y + 1 < col && x - 1 >= 0 && b [x - 1] [y + 1] == 0)
{

System.out.println ("b");
return ralse;
1
//my piece to up-right, can't go
else if (y + 1 < col && x - 1 >= 0 && b [x - 1] [y + 1] == me)
{
System.out.println ("c");:
return false;
}
//them to left, need to check further left
else

{
int ycopy = y + 1;

int xcopy = x - 1;
System.out.println (zcopy+" "+ycopy) :
while (ycopy < col && xcopy >= 0 && b [xcopy]l [ycopy] == them)
{
yCopy++i
XCOpy-——i

System.out.println(xcopy+" "+ycopy):
}
//them all the way to the edge
if (ycopy >= col || =xcopy < 0)
{

System.cut.printin ("d");
return false;

}
//them all the way to a blank
else if (ycopy < col && =copy >= 0 && b [2copy] [ycopyl == 0)
{
System.out.println ("e");
return false;
}
//them all the way to me
else if (ycopy < col && xXcopy >= 0 && b [xXcopy] [ycopy] == me)
{
system.out.println ("f"):
return true;
}

1
System.out.println ("g");
return false;



Error Testing

public boolean canGoUpRight (int x, int y)
{ // Checks 1if a player can go in (x,y) based on 1it's right side
int me = turn; Close up 1
int them = 1;
if (turn == 1)
them = 2;

//at edge, can't go
if (y+ 1 >=col |] x -1 < 0)
{
System.out.println ("a");
return false;
}
//nothing to up-right, can't go
else if (y + 1 < col && 2 - 1 >= 0 && b [x - 1] [y + 1] == 0)
{
System.out.println ("b");
return talse;
}
//my piece to up-right, can't go
else if (y + 1 < col && x - 1 >= 0 && b [x - 1] [y + 1] == me)
{
System.out.println ("c");
return false;



J/them to left, need to check further left
else

{ Error Testing

int ycopy = vy + 1;

int xcopy = x - 1;

System.out.println (xcopy+" "+ycopy) ;

while (ycopy < col && =copy >= 0 && b [Xcopy] [ycopyl == them)

{

Close up 2

YCOpY++;
XCopy——;
System.out.println (xcopy+" "+ycopy):
}
//them all the way to the edge
if (ycopy >»= col || =xcopy < 0)
{
System.out.println ("d"):
return false;
}
//them all the way to a blank
else if (ycopy < col && xcopy >= 0 && b [xcopy] [ycopyl == 0)
{
Svstem.out.println ("e");
return false;

}
//them all the way to me

else if (ycopy < col && xXcopy >= 0 && b [Xcopyl [ycopyl == me)
{

System.out.println ("£");

return true;

1
System.out.println ("g");
return false;



